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1. Which cne of the following category of
seeds 15 nof being produced in India ? .

{a) Nucleus seeds
(b} Breedér seeds
{¢) Remstered seeds

{d) Foundation seeds '

2. Which one of the foilowing methods of
- plant breeding is nef being.used in cross-
pollinated creps ?

{a) Mass sclection
{b) Recurrent selection
{c) Pedigree selection

{d) Back crf;"-ss

3. Match List I with List 1T and select the
correcl answer using the codc  given
belaw the Lists:

List 1 List IT
- (Segrepation (Tupe of gene
raria) internction wirh
‘which/the given
- ratios are
dsyeciated}
A9:3:4 1. Duplicate dominant
epistasis

Bi12:3:1 2. Duplicate recessive
epistasis

C.13:3 3. Dominant and
feCCSSive epistasis

D.15:1 4. Dominant epistasis

5. Recessive epistasis

P-DTQ-J-BHS - A

Code :
A B C D
() 1 3 4 2
® 1 4 3 2
© 5 4 3 1
@ 5 3 a4 1

. Match List 1 with List 0 and select the

correct answer using the, code given
below the Lists :

List I "0 Listlf
" {Expressions) {Terminology}
A. Altemnagive 1. Allele

ferm of. gene
which cannot
ronndgether in

the same :
gamete - 3. Test cross

2. Phenocopy

B. A phenotype
caused by |
environment
which resembles
a phenotype
caused by a
Tens

4. Epistatic genes

C. Crossing of F,
with homozygous
TECEssive parent

D. Gene which. has
masking effect
- on another gene

Code :
| A B C D
@ 1 2 3 4 '
» 1 3 2 4
@ 4 2 .3 1
@ 4 3 2 1
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5. Match List I with List II and select the
cotrect answer using the code given
below the Lists ;

List I List 11
{Events in - (Different
meiosis) ‘ siages)
A, Centromete 1. Anaphase IT
divides '
B. Random 2. Metaphase [
assoriment of
chromosome :
pairs occurs 3. Anaphase |

(. Orientation of
chromosomes
at the equatorial
plane

4 Pachytene

3. Crossing over
oceurs

- Code >

A B .C D
@ 3 1 2 4
(b 3 | & pA
© I 3 2%

dy 1 3 4 2

6. Consider, the fqllnwiﬁg statcments :
Hybrid'sced production process _invnh;es
1. production of inbred lines.
2; selection of inbfed lines.
3. production of F,-seed.

4, testing of combining ability. -

P-DTQ-J-BHS - A

Select the comect sequence uf_abnve
using the code given below -

@y 1,2 3,4

(b 2,1,4.3

(@ 1,423

. Consider the following statefhents :

In pedigree metfod of'bréeding

1. Plant selection”is continued 61l the
progenies become homozygous.

2. Plantsaire selected from F, onwards
", and their progenies are tested.

31t may be possible 10 sudy precise
nature of inhentance of different
characters by studying the pedigrea
records. _

Which of the statemcnts given above
are correct 7 -

{a} 1 and 2 only

(b} 1 and 3 only

fe)y 2 and 3 only

{fd)y 1,2 and 3

. Which one of the following is used as

solvent in concrete’ extraction from
jasmine flowers ?

(@) Ethanol

{h) Methano!
(¢} Hexanc

(djl Glycerol
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9. In camot, seed-to-sced method s ¥2. Sowing the rootstocks in the field and
preferred for production of . grafiing on them in the field itself is

known as
{2) Nuc]eus_ sced '

(b} Foundation seed ) _ {a) Field grafting

(c) Cenified seed (b) In-sitx gratiing
{d) Hybrid seed
{c} Veneer grafting

1). Which ouve of the following hybeids -of

banana is popularly known .as ‘Gold . %) Approach grafting
Finger’ ? S
{a) FHlA-01 134 Match List I with List [1 and select the
correct gnswer asing the code given
(b) FHIA-26 below thed isis :
(¢) PITA-I8 _
List 1 List IT
(@) BITA-3 (Crop) (Variery)

1. Match List 1 with List IT and select the
correct answer using the code given
below the Lisis : :

A. Solanum viarum 1. Arka Upkar

_ B. Java citronefla | 2. Nirmmal
List 1 Lised] . _

{Horticultire - (Lacatien) C. Catharanthus 3, Arka
Research Institute) . : ' Fosens Sanjcevin
A. CIPHET 1> Varanasi _ ,

D. Digscorea 4. Manjusha
B. HHR 2¢ Srinapar Foribunda : '
C. IIVR 3. Bengaluru
e Code :

D. CITR : 4. Ludhiana
Code - A B C D

A B C D @ 1 2 4 3

fay 4 1 2

. J ’ ®» 1 4 2 3

™ 4 1 3 2

© 2 5 1 4 ﬁ {c) 3 4 2 _ 1

@ 2 1 3 4

{dy 3 2 4 1

P-DTQ-J-BHS — A ' 6
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14. Match List I with List T and select the

carrect answer using the code given

helow the Lists -

List I
{Horticultre
erep)

A, Gerbera

B. Tuberosa

C. Dendrobium

orchid
D. Marigoid
Code -
A B
@ 2 3
b 21
«F 4 1
@ 4 3

. Crop yields arevseduced in saline soils

because

List IT°
(Stage of
Harvest)

. When all

florets- open

. Flullg..r opened

flowers

. When first

pair of {lowers
in the spike is
fully open

. When ourer

petals are

. fully expanded

U TR A

{a)_thesen soils do not allow easy
movement of water through them

{bywthese ‘soils have hard pan in the

subsur_fa::e

{¢) these scils have cfusty surface
affecting germinatjon

(d) of high osmotic pressure of the soil
solution around the roots

.. P-DTQ-J-BHS - A.

16. Consider the following statements :

17,

In the Indian_context, espetially for the
rice-wheat belt in the Inde-Gangetic .

“Plain, the fertilizer application is mof.

generally balanced, with the imbalance
being pnmarily due to
1. Excesstve application of PLand N
fertilizers.

2. Excessive applicatorfef Prand N,
while inadequate sapplication of K
fertilizers.

3. Inadequate (@pplication of K ferti-.
lizers,

4. Exce@sive application of N and
inadequaté application of P ferti-
lizers.

Which,_ol the statcments given above
igfare, coirect ? :

(a) 1 only

*(b) 3 and 4

(c) 2 only

' [n_i) 4 only

Consider the following statemenis :

Sprinkler irmigation has advantages over
surface trrigation in respect of

1. Ensuring uniform application of
watcr.

2. Favouring prealer permeability.
3. Minimizing conveyance losses.
4, Avoruding sorface run-off.

Which of thé statemenis given above
are correct ?

{a) 1,2 and 3

(b) 1,2and4

) 2,3 and 4
id) 1,3 and 4
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18. Consider the following statements :

19,

Proper tillage results in
1. increase in bulk densily of sail.

2. increased depth of soil for moisture
storage through higher infiliration.

3. reduced run-off.

4. impeded aeration  im  soil-plant
system.

Which of the stalements given abave
are correct 7

{a) | and 2

®y 1,3 and 4
{c} 2and 3 only
() | and 3 only

The sweet potate crop does well in
soils which are

{(a} Deep sandy loam

{b) Surongly acidic.shndy clay
(c]f Alkaline clavey sand

¢d) Saline clay loam

. With reference to  salt-tolerance of

crop plants, considet ghe  following
pairs :

Crop Degree of
selt-tolerance
1. Potato Tolerant
2. iviaize " Semi-tolerant
3. Barley Sensitive

Which of the pairs given above isfare
correct ?

(a) 1 only

(b) 2 and 3 only
fc) 2 only

(dy 1,2 and 3

P-DTQ.J-BHS — A

21. With reference to the nutrient manage-

taent of crops, consider the following
statemnents :

1. In crops in which the vegetative
part 1s Lthe economic vield, nitrogen
supply must be stopped much
before maturity, - * P

2. In seed crops, the application of
nitrogen may be duwng the seed
development phase. -

Which of the statemerits given above
1s/are correct ?

() 1 only
(b} "2 only
(€} Boih 1 and 2

(d} Neither 1 nor 2

22.«Consider the following sail classes

under surface irrigation methods :

1. Sandy loam

2. Clay loam

3. Leam |

4. Heavy clay
What s the correct sequencc of the
above regarding their irrigation effi-
ciency in ascend_ing arder 7 . '
fa) 1-2-3-4
B 1-3-2-4
(€) 4-2-3-1

d 4-3-2-1
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23. With reference to “Additive Series” type Code :
of intercropping system, consider the -

following statements : , A B _ C. D
‘ ' L @ 3 41 L2

1. The base crop is less than | its .
recommended population in pure by 3 1 4 2
stand. : _ {cy 2 4 1 3
2. The population F{:-f intercrop  is - @ z 1 4 3

104 per cent of #s recommended

population in its pure stand. 26. Which éne of the following,enzymes is

activated by Zinc ?
Which of the starements piven above (2) Catalase
isfare correct 7 ' : :

{b) Peroxidase
{2) 1 only T
. (c) Carbonic anhydrase
(b) 2 only ' {(d) Nitrdte reductase
(c) Both 1 aud 2 : _- 27. Which oné of the following is the

(d) Neither 1 nor 2~ : predormindnt sugar tanslocaled in the
: - - ‘phloemy’ of most crop species 7

24. Which one of the following hormones is (a) Glucose
responsible for cell division in plants 7 o {b) Fructose
" (a) Cytokinin ' c; Maltosge

d) Sucrose
(b) Abscisic acid @) ’
(c) Gibberellin 28. Which one among the following cations
) : ts involved in stoinatal regulation ?

(d) Bassineclide (a) Calcium

o ) s (b) Magnesium
25. Match Lisc [ withhList 11 and sefect the

correct answer using the code given (c) Manganese

below the Lists ;- : (d) Potassivm
HUS' ! List IT '+ 29. Which one of the following fungicides
NHormone} (Precursors) can effectively destroy or inactivate
W Auxin 1. Methionine internally seed bome inoculum ?
_ ' : (ay Mancozeb
B. Gibberellin 2. Purinefadenine ;
. : (b} Thiram
C. Ethylene 3, Tryptophan - (¢) Zineb
D. Cytokinin 4. Mevalonic acid {d) Metalaxyl

P-DTQ-J-BHS - A Co 12
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30. Consider the following statf:mﬂﬁts:

31,

P-DTQ-J-BHS - A

1. Sclerpspora  graminicola is- an
‘obligate parasite.

2. Albugo candida is a facultative
parasite, ' ' '

Which of the statements given above
isfare correct 7

{ay 1 nnl;.r_

() 2 only

{c} Both I and 2

{d) Neither 1 nor 2

Match List I with List IT and select the

correct answer using the code given
below the Lists :

List 1 ListII
{Cantrion {Znological
Name) Neme)
A. Mango stem 1. Cryptonichus,
borer mangiferae
B. Mango nut - 2. Doeus.dorsalis
weevil
_ 3. Batocern
C. Mango fruit rufamactdata
fly . -
: 4. Drosicha
D. Mangoumealy mangiferae
bug '
Code :
A B C D
&y 3 1 2 4
() 3 2 1 4
y 4 1. 2 3
{dy 4 2 1 3

32, Counsider the following statéments :

1. Pheromones are secreted by the
- endocrime glands.

2. Sex pheromones are released by
~ both male and female insects.

Which of the siatements givem,above
isfare comrect ?

(@) 1 only

{b) 2 only

(c) Both 1 and 2

{d) Neiber 1 nor 2

Match List T with List I and select the
correctoanswer using the code given
belaw the Lasts :

- List1 List IT
{Nematode) (Scientific Name)
A. Root-knot 1. Heterodera
nematode . " rosfochinensis
B. Citrus 2. Pratylenchus
nematode 5p.
. Cyst form 3. Meloidogyne .
nematode incognita
'D. Root-lesion 4. Tvlenchus
nematode semipenelrans
Code :

B € D
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% E1f g B AT § |
I Tl 8 FW a8 g g /E7
{a) FF 1
() FFF 2
(.cJ 1 #T 2 gt
(dy & PHETE2

el @ g o A gl g sk

| qﬁa‘r%ﬁ%ﬁuff&ﬁﬂmm%ﬁ
Gl il
(Tt (F=rties arw)
A, TZ-TH 1. TR
Wﬁf, Trerarsafr
B. fg-awr 2. e
. gAFE ayfaer
C. gy 3. HATSEFTZAT
AR =T
D. 918 fawia 4, TEATFH
T G o
FL:
A B C D
a 2 4 1 3
b 2 1 4 3
@@ .3 4 1 2
@ 3 1 4 2

A - P-DTQ-J-BHS




M.

35.

36.

37,

According to  Schoficlds ratio law,
upcn dilution of Na* conéentration by

4 umes, the absolute concentration of

Ca+Mg must decrease by how many
times so that the ratio of the cations
absorbed on the colloid surface of the
s0il remains unchanged ?

{a) 4
(b) 8
ic) 12
(dy 16

At a particular peint on a- classical
preduction function graph, the magni-
tudes of TPP, APP and MPP are 18, 6
and 7 respectively. What would be the
Ep (Elasticity of Production) at - this
point ? ' '

(a) 3

(b} 257

icy 116

@) 0-85

In  which type of ° unemployment
marginal productivity of labotr iswzero ?
(a} Structural une,mplaymem"

{h ﬁisguiscd uncmploviment

(c} Seasonal Gmcmployment

(d) . Frictional, ghempleyment
What_do you call the price which
ensures the same purchasing power per

unit, o the farmer as was prevalent
during a specified base period ?

{a) Minimum Supppﬁ-Price
ib) Fixed Administered Price
{c) Remunerative Price

{d) Parity Prce

DTQ-J-BHS - A

16

38.

39,

40,

41.

What 15 the cause-for downward shift in
the demand curve for an agricuitural
commodity 7 '

{(a) Fall in its price

{b) i{ise in the price of substitute

{c) Fall in the price of complement
@) Rise in the price of camplefent
What was the development modcl used
for the sccond Five Year Plan ?

{a) Harrod-Domar model

{(h) Mahalanobis model

(2} "Tobin moda.;,l

{d) Cobb-Douglas model

“AS a country pmgress'ﬂs* the ralative.
share of agriculbare in the National
Income is expected to

{a) Remiam the same

(b) ]ﬁcrcztse

ic) Deqrﬂase

{d) Surpass dustry,

A tmain c_:aﬁsa of year to year fluctuation

in prices of agncultural commodity is
(a)
()
()

Change in demand
Long term trend in price :

Business cyele in agricultural pro-
duction

{d)y Change in supply due to weather
related factors |




34. wFifeeg arqaTa o = sgEw, Nat &

AT & 4 AT OFA R J\ 9,
Ca + Mg #! frder = forey o =2
ST, Y 5§ SR 7 R AT
EFTIARH T SFTART T a1 < ¢

@ 4

(by 8
e 12 -

@) 16

3s.

frofiftes swmT weT sy & o

fadw fog W TPP, APP T MPP #

el FA: 18,6 T 72 W famg o

Ep {30 o) 77 @it 7
(a) 3
By 257

() 1-16

36.

37,

{d) 085

&qmaﬁraﬁaﬁﬁaﬁﬁm_

ST 3 B AT § 7
(a) HTETHT ALY -
(b) &% I

(c) WEH SUARKT
(d) =T SRR

AT FEEAT I P I FAE
L afi =S wa ufn i ghifvae st
& s faffie smm smafi & < v
G R

(a) ﬂjﬁ'ﬂ'ﬂ?ﬁﬂ'fﬁ"ﬁ

by =t At Fma

(c) Mﬁﬁlﬂ?[}

(dy THAT HHAT

] qmagﬁﬁw%#maﬁﬁaﬁ'{é}m

HTel T AT FE & 7

.{a) stﬂEPrEﬁHai?fﬁtﬁz

- (&) TmTw i Fry F gfg

() & H Fiwe A e

(@ T e F gl

39.

S5 i i et S F e P
RIeo T 47 ¥

(a) S-S wisH

(b) FEEAI=E e

(), A3 T |

() ET= - A=

40,

41.

H-AF B 2w W o wer ®, o=
arg ¥ g £ aie swrieid &

@) AT T T R BreT &

(b) ST T g 2

(c) weAT sfira rar @

@) I N T ST R S
Ffy Gy & fd § ouw | AW
TAR-FGH &1 TF q7 Tl

(a) win # i

(o) e ety waf ¥

() FIY FFT A IIHH TF 3

(d) FOW GART wREH & FRO AT

HAagaa B -

A - P-DTQ-J-BHS




42. Maich List I with List 11 and select the
comect answer using the code given
below the Lists :

List ] List 1
A, Principle of 1. Substtution
variable Tatio of
proportion Product =
Price ratio
B. Principle of I
combining 2. I:-‘;:}—quz}nt :
enterprises cunve ",“ET' '
sects with
C. Opportunity Isa-cost line
Cosl Principle 3. Marpinai
Revenue =

D. Principle of
~ Pactor substi-

Marginal cost

mtion 4. Equi-marginal
retwins from, -
the use .of
limited -
TESOUrCes
- Code :
A B C I>
(a) 3 1 4 o2
by 2 1 40 3
{cy 3 4 ] 2
) 2% 1 3

Producers are reduced w the level of
absolute “price takers” under which type
af ;narket?

43,

(3} Perfectly competitive market
{b) Monopely market '
c) l‘bligopoly market

{d}: Duopoly market

P-DTQ-J-BHS - A : 18 -

44.

45,

A line or curve connecting the least cost
combinations of .inputs for different
levels of output is referred to as

(a} Expansion path

(b) Isoquant

(c) Iso-cost line

(d} - Ridge line

The economy in which allocation of
Tesources 1s depéndent Wofally on the
working of price: mechanism is termed
as

{a) Flarmed economy

" (b} (Mixell ceonomy

46.

47.

(g} " Market economy

(d) Traditional economy

A rise in the pnce of one good causcs
fall" in the demand for another good.
These two are called as

{a) Identical goods

(b) Complementary goods'

{c) Substitutes

(d) Giffen goods

A tse in the income ol ¢onsumers

causes a decrease in demand for a com-
modity. What are such goods cailed ?

fa) 'Superim’ Boods .
{b} Inferior goods
{¢) Normal gﬂﬂﬂs

{(d) Substitute poods




g2, @I T T I A g Af

ﬂﬁﬁﬁi#ﬁrﬁqw@mmaﬂﬂﬁ
ik TR
ibl AT 11
| A, of=dl a1 S
Eﬁrﬁl.‘s’ﬁf AT
I = T

BWWI' AT
SoRLr-AC I
C. fa=er ama

2. HETHTET TF

HHTT SR T
z_mﬁmﬁ T FETE
| 3. HHE AT =
D.Tﬁmﬁr NP
F 9T @
USSR
CIG LI
E TR _
A B C D
@ 3 1 4 2
by 2 1 4 3 ¢
©. 3 4 41 2
@ 2 4.1 3

.%ﬁm%wi‘r’ Seqres A

‘frra SR A %mﬁqsﬁqrdﬁr
sg

@it et AT
@) wEfer AR
(c) AeTTEER TR
@ Bl IR

45.

246,

47,

T & ffew w0 & e e &

AGH S TR & W qie
AT Agh Tl FT HE & 7

(a) - T 9
(b) ®HTH WET

(c) WA WA &

() em @& (R =)

0 wdaEen #1 o eed/ g, e

- & TR e o AR T 2 7

(a) AT SefemaE

() fabir sy

() Waﬂ‘mﬁw

(d) HIT sferEEr .
Tw Ay W fe K oSged F oW
qedt e W ¥ froae 9 s &
T &1 =l FT el AT 2 7

(a) WIEY IEAL |

(b) TF TEgY

(c) ETTA TxU

(d) ﬁm‘mﬂw[ﬁm}a@i

T oA N gig F SRw

FEY <hF AP D 97 ] 2 T age
I =T 5T AT 8 ?

(a) T=AEE A

() P

(c) maﬁq

' (d) I T

A - P-DTQ:J-BHS




48. Under -

49,

which cost concept rental
value of owned land is included while
workicg out Minimumn Support Prices
for agricultural commodities by Com-
mission on Agricultyral Costs and
Prices 7 -

(&) Gusf_. A,

(b) Cost B,

(c) Cost B,
(d) Cost C3

Consider the following statements :
1. MPP is imversely related to MC.
2. MPP is always greater than APP.

3. When MPP increases, MC also
increases.

4. Total Fixed Cosl remains constant,
as oliput increases.

Which of the above statements cor-
rectly indicate/indicates the xelationship
between producticn and costs ?

{2) 1 and?2
(b) 3 only

() 2 add4

(d) I‘andd

S0, LConsider the following elements

1. Aluminium
2. Tron

3: Oxygen

. 4. Silicon

P-DTQ-J-BHS - A

20

In terms of their contents present in the
Earth’s crust in descending order, what
-18 the sequence of the above elements ?

(a) 2-4-3-1

by 2-3-4-1

52.

© 3-4-1-2

) 3-1-4-2

. 51. The sppciﬁc surface, area of  clay

minerals in soil varies from ome to
another, especiallyifor the following clay
mineralgs™ .

1 Kaolinite -
2 "Montmorillonite
3 Tite .

4. Vermiculite

In termis of specific surface area of
rthe sbove clay minerals in soil, in
descending order, what is the cormect
sequence ? '

() 4—2-3—1
(b} -1—3—2—4
€ 4-3_-2-1

(@ 1-2-3-4

“What i the predominamt mechanism. of
transport of Zn to plant roots ?

(z) Mass flow

‘(b) Diffusion

(e} {ontact exchange

(d} Root intcrcepﬁon .




48. I v & dwg M gRr F: Y
frwt & fou AAaa awkia fiway &
i w3 aaw &8 ama deeaer =
adr @l i 9 @1 W A=
afefere fowar smar & 7

49,

(a) @I A,
(b) AFE B,
(c) ¥FE B,

(d) AW C,

frafafas st w Frear g
[. MPP TMC F o719 Jfoeiwe: 5=

e &
2. MPP &R APP & wTeT BT &
3. e MPP =T & AY MC ¥ wgar 2 |
4. TR F FZA W 5 fag anra B
@l §
ITE FaR A ¥ FHA-FT B, IOET
S T R e O G o |
€ /o 8 /8 7

(@ 1d2
(b) ¥4 3
(c) 2 &4
(d)o ] €4

21

" sl

Tufth aet W, T § o R
3l & el w9 A, T IEH E 1
(@) 2-4-3~1

by 2-3-4-1

© 3-4-1-2

(dy 3-1-4-2

gar % fabm gk (@i &1 fafiee
TEATT S U AL T e il
&, amax Fatatgg giasr giaet @ .
1. FfermRe

2/ At=HReATEE

s N £
iﬂﬁ@ﬁﬁ

T X swfw gieer afrdl & Gfe
TSI GAF T dAEr F9 N e A

T E?

@) 4-2-3-1"

b) 1 —3—-2—4

ey 4-3-2_-1

) 1-2-3-4

. 52,

e FY 181 9% Zn F TEw ¥ e s
ot ot SRt @ v

m)ﬁﬁﬁﬁ%
M fAmor

A - P-DTQ-J-BHS




53.

54,

35.

Which one Gf Lthe fr:rl]owmg 35 the

formula fot calcuiating “percentage pore
space” ?

{a}. 100— Bu_lk dcnmt?r, <100
Particle density
Bulk density .
100
® Particle density *

: . { Particle density B
c)- 100- 100
© [ Bulk density X ]
) Particle density 100

Bulk density

What is the sequence ol textural classes
of soils amanged in increasing order of
coarseness !

(&) Loam, silt Joam, sandy loam, loamy
sand .

(b) Silt Joam, sandy lnam ]ﬂamy sand,
boam

(¢) Silt loam, loam, sandy loam, 11‘}:1!1‘1}"
sand .

{d}. Loamy sand, loam, sand}flloam, silt
loam

Cation cxcﬁange gapacity gcnmlly
mereases 45 the, seil pH

- {a} stabilizes

. 56,

(bl increases

{c), decreases
{d) attains neutraliry
Maich List [ with List 11 and select the

commect answer using the code given
below. the Lists :

P-DTQ-J-BHS ~ A

22

List I

List IT
{Soil moisture {pF value)
constant) .
A. Capillary water 1. Tensien free
B. Hygroscopic 2. 0t025
. water 3. 251045
C. Ground watf:r. 4. 4.5 ta ‘f’-ﬂ
D. Gravitational
~ water
Code : . :
A B _CWD
(ay 3 4 | 2
by 3 1 @ 2
@ 2 4 1 3
w2 F 4 3

57,

Ammajor_cause for fﬁnnaiiun of saline
and sodic soils is '

(a)
(b)

Intensive use of the land
Inadequate presence of gypsum in
01l

Inadequate presence of lime n soil -

Paot soil drainage {both surface and -
internal)y -

(c)
(d)

Consider -the foligwing statements :

1. A fine-textured acid soil requires
much larger quantity of lime than
does a sandy soil or a loarmy soil
with the same pH value.

2. One molecule of caleium oxide,
magnesivm oxide or calcium hydro-
xide neutralizes the same amount of
acidity as does one malecule of
calcium carbonate.

Which of the smtcments given above
isfare cnrmcl ?

(ay 1 ﬂ!’ﬂ}-’

) 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2




3.

‘wEy Tlavaar & ofeem ¥ fo
fefmgdfd s mmm@ma?

(a)

lﬂﬂ-(wm,axlﬂﬂ)
_ A I HTE

T Hrgd
il ¥

(b) » 100

(c)

1::::1:;—[*“"r ki

xlﬂﬂj
ST T

(@ T T

X100

#\%w%aaﬁgqmﬁwnﬁgﬁﬁmﬁ

% TS T AW BT WA R ¢ 7
@) e, firee gz, wgd gwe, Feam
() Fiez gz, o 3o, e T, g

(o) B e, g, Al o, e

55,

56,

) g7 A, g, wgf g, (fe gue

HHEAT BT AT AwaT Jgat 2
ST J&T T pH

(2) FIC €T
®) FEE
{c) HZaE

{dy mmmm%

qEr L W o I# gﬁrﬁvﬁr Fifny 2fc
R & A fer Wi g2 1 99 AR wE

\‘ﬁﬁﬁﬁq:

At 1 il
(= wwdar (pF ATT)
fegtr=) | J
A. FHiET I i. 77 A
B. #Tar 20§25
C. WiF e 3. 259 45
. D. e W 4. 458 T
oL
A B C_=mD
@ 3 4 1 2
My 3 1 /N2
€@ 2 43,10 3
@ 2 L w3
AU T R (WIS gani % &9 @

-58.

23

[ (T T E

(@), siraT o gt

@) HR F S f awfe Gemmen

) w1 F 3% sty R

(d) FE FE dvAE (I8 AT dTAieR
) :

fatotEs gt o fFar Sl

1. IE pH AT &Y UF T 970 4T T
S a1 Y AT A U e it g
& T AT rferR AT Y AravAEar
GRS :

2. Hf@mm wEaEs,  deafaliom
ATFTRT AT HiaT SRS &
TS 9] Srrerar Y IaAT & Jrew
=M Far & Faad = & S
FIS (e T TF o0 FET [

F9Yes Fel 0§ Wi A/ wd g/E 7

(a) FIA 1

(o) FaT 2

(¢) 1 &2 aHf

(dy Tar1 aAlcTdr2

A - P-DTQ-J-BHS




59. The DP-deficiency symptom visible on
foliage of cercal crops is

{a} General yellowing of young feaves

{b) Development of reddish brown -or
purple colour on older ieaves

{ch 'Marginé] scorching of older tcaves

{d) Tnterveinal chlorosis of yuung
leaves '

6. Match List I with.List TI and select the
correct answer using the code given
below the Lists :

List [ © Last II

(Available t Extractant)
Nutrient)
A. Boron . 0-15% CaCl,
- solution
. B. Nitrogen
. 2. Hot water
. Sulph
et 3. Alkaline
_ KMnQ,
Code : '
A B C
m 2 .1 3
by 1 3 2
@ 20%3, 1
R !

61. Which one among the following is a
geodtindicator plant for K deficiency ?

(@) Maize
{by Canliflower
{¢) Potaro '

(d) Leftuce

P-DTQ-J-BHS - A

62‘.. Caonsider the fﬂilnwiﬁé, :
1. Bacteria : ‘
2. Grain straw
".3. .Cln\rer residues
4. Sﬂilr' humus

What is the ascending_erder,of C: N
ratia in the above materials ?

(@ 1'-2-3-4
b 4 - 3o -2
) AT483.2

fdhd =i -3 -2

63. Consider the following statements :

The application of bulky organic manure
to soil is advantageous because it

- 1. Tncreasss C/N ratic of soil and thus

favours mineralisation of organic
nutrient pools. '

2. Reduces phosphate fixation by soil.

3. Favours rapid release of mutrients
from the incorporated arganic pool.

Which of the statements given above
isfare correct ! '

{a) | only
(b) 2 and 3 only
{cy 1,29und 3

{d) 2 only




9.

61.

mmﬁr ¥ of w fead B awn
PSR S e A g Y
(a) rATErAAT A qfoEr F G og

() T afirEt o= ATe ar av Sy S
ATFY

(@) et ufet Fr i wv g
() 7% ofadt & s s

g LA w0 whe B R

- 62. Tmfarfi o faw Hifng

4l & A faw o gz 7 e R s
Wﬁﬁ":{
gl T
" (uT aaeE {FrerdeF)
. mErd) _
A FRA 1. 015% CaCly -
So
B. AT
©2. dd Wl
C. O7h .
3. FRE KMnQ,
&
A B C
fay 2 1 3
m 1 -3 2
e 2 3 1
d 30w |
K -Eirtar o ffefag 8 & sigar
_- AT = T § 7 ' .
{a)  HERT
(b) g@ﬁ%ﬁ
- {g) ¥

(d) TR (2IW)

25

63

1. =T

2. & S |

3. g (el 7)) safis

4. 7T @R |
wgﬁwﬁﬁc:ﬂwmwﬁ@#
m:n%?_

fa) 1-2-3-4

) 4-3-1-=-2

{c) 1_—4-3-—2
d 4-1-3-2

gaT H e HEE AR ST TS

> v &, it

1. g% =T F C/N A9 AW & T
= YH 9T OI9E 6% & SiNsHET
H TR@ar ar g |

2. o quT BT weEE ¥ ferter &
T TG B ]

1, gg qETRe 99 a9 ¥ & 9y agmf
=t gy Frifee  wemar STl
I R A ST ar/d w28 7

(@) FEd |

(b) Fa=T 2 @3
€y 1,2 {3
dy FEA2 .

A - P.DTQ-1-BHS




64. Match List I with List I and setect the
COTreCt answer using the code given
below the Lists :

65.

List I List IT
(Nurrients) (Folluting effect)
A. Nitrate-N 1. Eutrophication
B. Nitrous 2. Methemo-
oxide giobinemiy
C. Nitrogen and. 3. QOzone layer
Phosph
OIS 4. Yeart and
D. Cadmium as kidney diseases
contaminant
in zinc and
phosphatic
ferdlizers
Code :
A B C D
(a) 2 1 3 4
b 2 3 1 4
© 4 1 3 2
(d) 4 3 1 2
What is the commercial potash Terilizer
preferred for wbaceo/crop ?
(a) K,50,
®) KCl
(&) K,CQ,
(d) KMnQ,

66. Consider the fulluwing_ :

b Zinc sulphate monohydrate
2. Zine phosphate |
3. Zing oxide

4. Zn-EDTA

P-DTQ-J-BHS - A

67.

Based “on the content of Zn, what is the
sequence of the above materials in
descending order 7

() 3-1-4-72
® 3-2-1-4
© 2-1-3-4
@) 2-4-3-1

Consider the follnwing statements :

1. Potassium is abforbed by plant as
K+ ions.

2. Potassium ‘is essential to photo-
synthesis to take place.

3. Potassium is invoived in activation
of echzymes impottant to energy
utilization.

Which of tlic staiements given above -
are correct ? '

fay 1 ;md 2 only
(b) 2and 3 only

‘(¢) 1and3 only

{d} 1,2 and 3

Consider the following :
1. Ammomivm Nitrate
2. Potassium Nitrate
3. Sodivm Nitrate
4. Urea

What is the comrect sequence of the
above fertilizers. in ascending order
based on their salt index per unit of
Nitrogen content ?

@ 4-1-2-3
B 4-2-1-3
€ 3-2_-4-1
iy 3-2-1-4
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66, Bty ¢ e R -

&7,

Zn % @9 F AR 97, Ingeh oAl
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() 3-1-4-2 |

b) 3-2-1-4

{icy 2-1-3-4
@ 2-4-3-1

frfafim saal o = fifms
1. v & gRy AR TR Ak AT &
&7 & e Gy S 2

2. mmﬁﬁ'ﬂr@ﬁ%%qqﬁﬁm
AT 2

3. m%aﬁﬂ%ﬁ[ﬂsﬁ@wﬂﬁ
¥ ieraor A 12REA e ST g |

awa{?ﬁmﬁ’rﬁﬁﬁﬂﬁﬂﬁ%?
(a) %ﬁalamz

fby %ﬁazaﬁ'-::a

© Fa@lawa

@ 1,2 9T 3

1. SAIFET AR

2. SRR T

3. aifET TR

4. giar

e s T, I A T IR
T AT AW & AET W, AT F9

_ ﬁﬂﬁﬁﬁw%?

{a) 4-1-12

b) 4-2-1-73
() 3-2-4-1
(@ 3-2-1-4

A = P-DTQ-J-BHS




69 Match List I with List Il and select the

correct answer using the code given
below the Lists : '

List I List T1
(Name of (Area of
the Scientist) wark)
A. Jones 1. Law of homo-
. logous series
B, Tysdal i variation
€. Muller 2. Paly-cross test
o, 3. Double cross
D. Vavilov . ' maize hybrids -
= 4. X-ray induced
. mutations
Code : _
A B C D
{a} 1 3 4 P
by 372 4 i
@ t 4 3 2
(ay 3 4~ 2 1

.,

71.

Match List I with Lisc I and select the
cotrect answer using the code given
below the Lists :

List I List (T
(Crop) {Centre of
Crigin)
A. Barley I South America
B. Polato 2. Abyssynia
C. Chick-péa 3. Chuna
D. Soybéan 4. Mediterranean
Code ;
) A B C )
L 4 1 2
by 2 1 4 3
€ 2 4 1 3 .
d) 3 1 4 2
With reference o domestication - of
crop plants, consider the following
staternents : '

P.-D'TO-J.BHS - A

72.

TS

1. Under the domestication the varia-
bility generaied by spontaneous
mutation, nataral hybridization and
polyploidy were selected by man to
'suit his needs,

2. The extem of genetic variabilily
substantially increased dve o
“selection. .

Which of the statement§ given abnve
is/are correct ?

{a) 1 only

{b) 2 only

{(c) Both 1 and 2
{d) Neilhcr 1 nor 2

Primuladis 4n ideal example of hetero-
morphic Sporophytic syster of incompa-
tibility, where two types of flowers, pin
and thrum, are observed. The compatible
manng is observed in the crosses of
(a) Pinx Pin flowers

{b} Thram x Thrum flowers

{c) Pin x Thrum flowers or its rempro-
cals

(d) In all possible combinations

Plant breeders manipulate sterility and
floral morphology 1o take advantage of

. hybrid vigour. Which of the basic

methods listed below are wtilized for this

purposc ?

Genetic male steritity
Self incompatibility
Induced mutation
Hybridization

3. Cyroplasmic male sterility

Bt pope

. Select the comect answer using the

code given below :

fa) .2 and 4 anly
(d) 1.2 and 5 only
(¢} 3, 4and 5 only.

(d) 1,23, 4 and 5
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" 74. Match List I with List i and select the
comect answer using the code given

below the Lists :

List I Listi
(Mechanisin) - {Crop)
A. Cleistogamy . 1. Barley
B. Chasmogamy | 2, Rice -
C. Pratogyny 3. Bajra
D. Protandry 4. Maize

Code:
A E_ C D
@ 1 2 3 4
by 1 3 2 4
€ 4 2 .3 1
@ 4 3z

Match List I with List IT and select the
correct answer using the code given
below the Lists :

75,

List T . Ligclrg
(Breeding (Breeding
Objective) Merhod)

A. Exploaitation

A, Backcross
of vanability :

present in . P cd.i
farmers’ selection
varieties o

B. Creatichvof 3. Pore ['me

wariahili selection

uewiwariability :

C. Isalation of new 4. Mutation
combinations |
of genes 5. Polypioidy

I}, Comécdon of . -
specific defect
in an adapted
variety

P-DTQ-J-BHS - A
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Cadé:
A B C D
a) 3 - ¢ 2 1
® 5.3 i 2
{c) 3 | 4 1 2
(d) 5 3 2 1

L]

7o, When hnﬂn additive and aon-addicve

gene-effects are impofant ip the expres-
sion. of a trait, the \most appropriae
selection schemé is

(a}

(b} Mass selection

Pure-line seleéién

(c) /' Simplestécurmrent selection

{d) “Reciprocal recurrent selection

T7. (With reference to self-incompatibility,

consider 'the foliowing staternents :

1. Sporophytic system of seif-incom-

patibility is governed by a single

gene with multiple alleles.

2. The incomipatibility reaction of
pollen is governed by the genotype
of the plant on which pollen is.
produced.

3. The ‘S’ alleles are responsible for
sporophytic incompatibility.

4. Failure of pollen germination on
sligma, slow pallen tube growth
after pollination are some of the
reasens for this sclf—mcompaub:hty

Which of the staternents given above
are comect ? :

(a) : 1,2 and 3 uhl}'
(&) 2, 3 and 4 only
() 1 and 4 only
{dy 1, 2,. 2 and 4

k
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78. The outbreeding individuals suffer from
~ inbreeding depression when subjected 1o
- close mating. In which of the following

types of mating, the inbreeding depres- .

sion will be acute 7

(a) Genetic assortative t'naﬁng

(b) Pheootypic assortative mating
(¢) Genetic disassortative maling
{d) Phenotypic disassortative mating

79. Single Seed Descent (55D) is & modi-

fication of which one of the following
methods of selection ?

{a) Purc line
fb) Mass
{c} Bulk
(d) Recurrent
. Commercial hybrid seed production . in

cotton in our country has been’ possibié
due 1o which one of the following

rcasons ? _
(@) Availability of male-sterile lifcs
(b) Pressure  of  self-incompatibility
system '
(c} Larpe-scale hand emasculation and
pollination :
{d} Entomophily of flowers
B1l. Consider the ) following statemenrs
regarding, synthetic varieties :
1. Parental materials. . are always

O inbred lines.

2. Open poilinated materials are also
used as parental lines,

3. Thers is no linut on the number of
- parental lines used.

4. Parental lines are always tested for
their combining ability.

P-D'FQ-J)-BHS - A
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82,

53,

£l

Which of the statements given above
are cormrect ?

{a) 1 and 3
(h} 2 and 4
¢} 1 and 4
(d) 3 and 4

Performance of a doublé-cross hybrid
can be predicted by l:al-:mg the average
performance of

{8) The inbreds mmlved n makmg the
double cross

(b}

Allhe single crosses to be used in-
makifig the donble cross

The “four non-parental
crosses obtzined  from
nbreds

(c)

single
the four

(d) All the single crosses produced

from the four inbreds

Match List 1 w:th List IT and sfele.c[ the
comrecl answer using the code given

‘beluw the Lists -

List I ~ List 11
(Name of the {Name of the
crop) hyhrid variety)
A. Pearl Millct 1. CSH-1
(Bajra) 2. Pusa RH-10
B. Maize
C. Basmati Rice 3. HB-1
D. Sorghum 4. Ganga-1
Code :
A B C D
@ 1 2 4 3
® 3 4 2 1
@ 1 4 2 3
(dy 3 2 4 1
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84,

85,

Match List I with List IT and select the
comect answer using the code givep
below the Lists :

List I . ~ ListII
{Crop) (Varieties}
A. Wheat 1. Bikaneri Narma
B. R_i'L':E- 2. Agrami
C.‘Mustard 3. Swama
D. Cotton 4. HD-2687
Code :

@ 12 3 4
by 1 3 .2 4
(c:j _ 4 32 1
W 4 2 3 1

Consider the following stateménts’:

The backcross method of ht'eedmg can

- be used for

-

I. Intervarietal tramsfer of s:mp]y
inherited characters.

2. Intergenetic  transfer of highiy
- heritable ¢haracters.

Which ‘of the statcments giver above
isfarc correct 7

{a) 1 ondy

(b) 2 only

{¢} Both 1 and 2

(d) Netther | nor 2

P-DTQ-J-BHS - A

86. With reference to pure line selection

in self-pollinated crops, consider the
following statements :

L. Pure line selection is essentiaily
based on the genotype of the plant,

2. It i3 effective only for heritable
differences,

3. It is meffective in crealmg new
variations.

Which of the statements. given above
are correct ?

{a} 1 and 2 only
(b) 2 @and,3 only
{ed 1 und 3 only

(d) 212 and 3

B7..Consider the foillowing plants :

1. -Mussaenda corymbosa
2. Lonicera japonica

3. Iﬂgfr:';fraemia indica
4. Pyrostegia venusta

Which of the above are gmarnental
climbers ?

(a) 1 and 2 only
(b}. 2 and 4 oniy
(c) 1 and 3 only
idy 1,2 3and 4

88. Pragati is a high yielding clone of

(a). Lemon prass
(b) Patchouli
(¢} Citronella

(d) Palmarosa
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89. From which one of the following parts

91.

92;

P-DTQ-J-BHS - A

93.
of Mentha arvensis is the high quality
oil containing menthol is obtained ?

(a) Green ieaves

{b}f Diy leaves

{c) Fresh roots

(d) Semi dried foliage

Consider the following :
I. Lime -
2. Legutninous crops
3. Papaya
4. Sapota

Which of the above inter-craps can be
grown during early growing period in
mango orchard ?

{a) 1and2
{b} 3and 4
{c) Tand 4
{d) 2 and 3

Which one of the followifig"varieties of 94.

rose is developed by CIMAP (Lucknow) -
for oil extraction 7 :

{a) Noorjahan -
(b} Raktagandhaw, . -
(¢} Di BLP Pal |

(dy Montezuma
. 05,

‘Cordiat’ is prepared from the fruits of

{a) Manga
(b} Litchi
(c} Lime
(d) Bael

Match List I with List I and sclect the
cotrect answer using the cede given.

below the Fasts -

List [ List 11
(Crop) (Method of
' hybrid seed
- production)
A. Brinjal 1. Genetic male
sterlity
B. Chilli 27 Self
. incgmpatibilicy
C. Cucumber - 3¢ Functional
male sterility
D. Cabbige 4. Gynoecy
Code :
A B C D
a) 2 4 1 3
b}y 3 1 4 2
) 2 1 4 3
@ 3 2

4 1

Resistant source for virus in papaya

‘breeding is

{a) Carica monoica

(b) Ca.llrica candamareensis

{c) Carica pentagona

(d} Carica microcarpa

Papaya cul-tiv'ars ‘Pusa Deliciouns’ .aml
‘Pusa Majesty’ are

(a) Andromeoncecious

(b)) Gynodioecious

(c) Hermaphrodite

{d} Dioecious
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96. Vegetative parthenocarpy is seen in
which one of the following . pairs of
fruits 7

(a) Thompson seedless grape and seed-
less guava

(b) Banana and Pineapple
(c) Papaya and Jackfruit
(d) Mango and Litchi .
97. Match List | ﬁrith List ]I and select the

gorrect answer using the oode gven
below the Lists :

List T List II
{Source) { Derivative)

A. Centella asiatica 1. Emotine

B. Anuni majus 2. Forskholin
C. Ipecac 3. Vellatine
D. Medicinal - 4. Xanthotdxin

coleus :
Cﬂdq:

A B C D

(a) 2 i

M 3 4 g 2

© 2 847 1 3

@32 1 4 2

98. Thé sex torm of watermelon is
(a) Monoecious
{b) Digecious
{c) Hermaphrodite

(d) Andromomececious _

P-DTQ-J-BHS - A 38

1(H.

A9, Match List I with List I and select the

comect answer using the code piven
below the Lists :

List T : : List II
{Common {Species)
Name)
" A. Brazilian 1. Psidium montanum
guava
2. Psidium
B. Strawberry AN ¢ .
guava frmdnchsrha!mnum

C. Costa Rican 3( Psidium guinense
*. {or} China
gaava 4. Psidium catteignurm

D. Mountain
‘fudva

Code *

(a)
(b) -
()
{d}

R R L
b3 ah S S
N R S Y
— =t m.U

Match List [ with List I and select the

cotrect answer using the code given

hmelow the Lists :

ListT © ListTI
{Roat srock) {Fruit Crop)
A. Malling-9 1. Sapota
B. Salt creek - 2. Mandarin
C. Manilkara 3. Apple
hexandro - 4. Crapes
- D. Citrange
Code :
A B C D .
{a) 3 1 4 2
® 2 4 1 3
(&) 2 | 4 3
3 & 12

(d)
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101. Lancing is done in’
{a) Baﬁana .
(b) Poppy
(¢) Cinchopa
(d) Cauliflower

102, Consider the following statements -
1. Pumpkin is self-pollinated.
2. Lettuce is cross-pollinated.

Which of the statements given above

isfare correct ?
(a) 1.only
(h) 2 only
" (¢) Both | and 2
{d) Neither 1 nor 2

103. Consider the following statements :
L. Cauliflower iz rabi crop.
2. Bitter gourd is a kharif crop.

Which of the statemenis 'giﬁ:n above

isfare correct ?

" (a) 1 enly

(b} 2 only
{c) Bothland 2
{dy WNeither 1 nor 2

104. To which family, docs Jasmine belong ?

{a) Orchidaceas
(b} Tridaceae

{ch, Nyciaginceae
(d), Oleaceae

1050 Peach yellow discase is caused by
{a}. Nitrogen deficiency

{(b) Plant viruses

{c) Phyioplasma

(8) Bacteria

P-DTQ-J-BEBS - A
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106.

107.

108.

(by Poiawo

Ripe froit rot discase caused by
Colletotrichim sp. can be seen in

{a) Banana

(b} Chiliies

(c) Mangp

(d) Tomato

Which one of the following ‘pairs is
correctly matched ? )
Gall'midge Green
leathopper.
Bakanase

Black scurf,
Black wart,
. Black heart

(a) Mango

Tungro, Goldén
nemataode,
Orobanche sp.

(@]  Rice .

Black tip,
Mal{ormation,
Mealy bug

(d} Sugarcune

During a visit to rce fields, at the
tillering stage, patchy, stunted growth
was obsérved. Critical close observa-
tion revealed that the plants had poor
tillering and growth. The lower Jeaves
had rusty patches of different sizes and
shapes and the younger leaves showed
interveinal chlorosis. The disease was
not increasing, indicating the syndrome
is due to some nutitional disorder. -
Which one of the following may be the
cause of the syndrome ?

{a) Zinc deficiency

. (b} Nitrogen deficiency

{c} Iron deficiency

{(d) Iron ‘tﬂxicit}r
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109.

4.

111,

Match List I with List I and select the
comect answer wsing the code given
below the Lists: '

Lest T List 11
{ Viris) (Transmitted
. by}

A. Cucumber green 1. White fly
mottle mosaic B
Visus 2. Thrips

B. ka_}rellf:nwwain 3 Aphids.
MOsaAc virus .

C. Tomato spotied 4. Seeds
wilt virus

D. Pea seed bome
MOSalE vins

Code :

A B C D
{a) 4 2 1 3
4 1 2 3,
© 3 2 4
(d) -3 1 2 4

Consider the following locusts
1. Locustamipratoria
2, Patanga succincia
3. Schistocerca gregaria
Which of the abave are found in India ?
(2 1 and.2 enly
(b) 2.and 3 only
(e¥w,1 and 3 only
(dy, 1, 2 and 3

Consider the following modes of bio-
control of plant pathogens :

1. Mycoparasitism

2. Competition
3. Induction of systemic resistance

Y

P-DTQ-J-BHS - A

112.

113.

114.

When Trichoderma spp are used, which
of the above are involved ?

(a) 1 and 2 only
(b) 2 and 3 only
fc) 1 and 3 only
{d) 1,2and 3

Which one of the following is Pastenria
penerrans ?

(a) A soil hyphoniycete used in the
bio-control sof “spil-borne fungal
diszases :

(b) A soil bacterium causing  wilt
disease in ornamenta] plants

{cyA Eac:eﬁum. 2 bio-contro! agent
against rool knot nematodes

@, A fungus, a potential bio-control

agent of Golden nematode of potato

Uncinwla necator, the causative orga-
rism’ of powdery mildew of grape is
parasitized by

(a) Trichoderma harzianum

- (b) Ampelomyces qufsquaffs

(€©) T harzianum and Pseudomonas
Huorescens

.{d) T. viride

Consider the following chemicals :
1. Dicofol
2. Carbary]

3. Dimethoata

'Which of the above are ingecticides ?

{a) 1 and 2 only
by 1 and 3 only
(€} 2and 3 omly
) 1,2 and 3
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115. Which ore of the foliowing -pairs 1s {c) Contaminated irrigation water
not correctly matched 7 _ s
{d} - Conidia produced on the midrib of

Group Fungicide leaves in standing crop
(a) Acylalanines 1 Metalaxyl - _
] . 118. A grower purchased a packet of pesti-
(b) Aromatic : Pentachloro- _ cide .in the form of wettable powder
cotmpounds . nitrobenzenc : having 50% a.i. (active ingredient) to

spray his paddy crop. He is hawving

(¢} Benzimidazoles : Thiophanate high volume sprayer that would require

Tmethyl 600 lies of spray/solution for one
(d) Heterocyelic : Propiconazole hectare area. How much pesticide will
. compounds be required for cne hectare area if the

recommended dase of pesticide is 0-05%

) ] ] : on ai. basis ?
116. Match List I with List H and select the

correct answer using the code given (@) _60g
below the Lists : : '

_ by 6
List 1 : List IL . RNSTE
{Target « {Pesticides) : (c) 1200 g
Organism) '
A. Molluscs 1. Metaldehyde {4 00g

B. Nematodes  * 2. Methyl brormids 119, Which one of the following equipments
C.Rodents 3. Warfarin & o can be most.effectively used for spraying
. on Orchard tall grown crops 7

Code )
- {a} Sikar pump

'B -
@ 3 . ] ' _ (b} Heli sprayer
a 2 _ _

3

& A
fehn2.. 1 3

(c) Barrei pump

{d} Foot sprayer

(dysl 23 P Isoquants always slope to
17%The Primary source of inoculum for -~ (a) downward to the right
red rot of sugarcane is through which ' ) X
one of the following ? - (b) gpward (o the right |
{a) Infected cane sctts used for sowing (¢) horizontal to X XIS
(b) Conidia present in the soil - ' {d’j_ vertical and parallel to0 Y axis
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Note : English version of the instructions is printed on the front cover of this Booklet,






